& Cambridge Audio

A300

Integrated
Amplifier

Schematics & Bill of
Materials

Gallery Court Hankey Place London SE1 4BB UK
D+ 940 2200 Fax: +



A300 V2.0 Bill of Materials

For this BOM use A500 BOM attached and A300 V2.0 additions and
subtractions (pages 6 and 7 of this document)



AS500RC INTEGRATED AMPLIFIER UK VERSION BOM AP10237/9
ITEM |LEVEL FACTORY PART NO DRAWING NO DESCRIPTION QTY DESIGNATOR COMMENTS
| 0 A500RC PACKED UK VERSION |
2 - AP10069/2 CAMBRIDGE CARTON POLYFOAM 2
3 Nl 5013-400000-200 AP10045/1 CARTON BOX CD4 W/HANDLE | PRINTED TO ARTWORK AP10046/2, AP10062/1
4 Nl CAMBRIDGE SRC - 01 REMOTE COMPLETE (BOXED) | T:Tg_’:\(l)zle INTO POLY PACKING AS PER DRAWING
FOR REMOTE. PLACE IN INSTRUCTION MANUAL
5 Al AA ALKALINE BATTERIES 2 POLYBAG
6 - 5100-100000-100 AP10059/1 A-SERIES AMPLIFICATION INSTRUCTION MANUAL |
7 Nl AP10463/1 A500RC OWNERS' CERTIFICATE |
8 - AP10281/1 A500RC CARTON LABEL (MODEL NO.) | FOR BOX
9 Nl SERIAL NUMBER LABEL, BLANK (6.5X35.5mm) 3 I X REAR PANEL, | X BOX, | X SHIPPING CARTON
[N 5110-100000-900 1SO 9002 LABEL | AFFIXED TO REAR PANEL ABOVE IEC SOCKET
o 5110-400000-000 AP10087/2 "MADE UNDER LICENCE IN PRC" STICKER | AFFIXED TO REAR PANEL BELOW IEC SOCKET
FOR INSTRUCTION MANUALOWNERS CERTIFICATE
12 5200-173260-040 POLYBAG 173X260X4C mm | AND REMOTE BATTERIES
13 5299-523384-300 API10150/1 CAMBRIDGE AUDIO NON-WOVEN BLUE BAG | PACK AS PER DRAWING AP10500/1
14 |1 1830mm AC IEC POWER CORD SET BS STANDARD FUSED 3 AMF | MUST BE BS APPROVED
15 1 RED TAPE SEAL FOR CAMBRIDGE CARTON |
16 |1 A500RC UK VERSION ASSEMBLED & TESTED |
17 1.2 AP10209/1 CAMBRIDGE SELECTOR KNOB MK3 4
18 |.2 AP10224/1 CAMBRIDGE KNOB INSERT MK2 5
19 .2 AP10208/1 CAMBRIDGE VOLUME KNOB MK2 |
20 |.2 6010-150113-000 CAMAI72D/A AIMK2 POWER BAR |
21 |2 6010-150114-000 CANAI83D/A AIMK2 PLASTIC STANDOFF EXTENSION 4
22 |.2 6040-010103-000 AP10028/1 CAMBRIDGE POWER KNOB 3
23 |2 6040-010104-000 AP10029/1 CD4 PLASTIC STAND (FOOT) 4
24 |2 6040-010106-000 AP10027/1 POWER KNOB BUSHING 3 HKENED960578
25 |2 6040-011601-000 AP10042/1 CD4 CUSHION A (BLACK) DIA. 10X3mm W/D 3 ON FRONT PANEL HKENED960578
26 |.2 6040-011603-000 AP10041/1 CD4 CUSHION B (BLACK) 20X5X3mm W/D 3 ON REAR PANEL HKENED960578
27 |2 6040-011604-000 AP10043/1 CD4 LEG PAD (BLACK) 29.5X10X5mm W/D 4 HKENED9%60578
28 |.2 6090-050112-000 AP10080/1 12.2MM PLASTIC STAND-OFF 4
29 |.2 6510-150241-000 Al TOP COVER (MODIFIED) | MODIFIED TO DRAWING AP10019/3
30 |.3 6510-150241-000-XXXX CAMAI07D Al TOP COVER |
31 |2 AP10304/2 AMPLIFIER SUB-PANEL WITH TD & RC |
32 |2 A500RC FRONT PANEL (PUNCHED AND PRINTED) | PRINTED WITH ARTWORK AP10286/1, AP10287/1
33 [..3 AP10269/2 AMPLIFIER FRONT PANEL WITH RC & TD |
34 A500RC REAR PANEL (PRINTED) | PRINTED WITH ARTWORK NO. AP10294/1
35 AP10276/1 AMPLIFIER REAR PANEL WITH IEC, 8RCA, 2 SPKR |
36 CAMBRIDGE Al/A2/A3 BASE (MODIFIED) | MODIFIED TO AP10390/2
37 ... CAMA64D/D CAMBRIDGE Al/A2/A3 BASE |
38 |2 AP10384/3 POWER PCB STANDOFF 2
39 |2 AP10349/2 HEATSINK & PCB SUPPORT BRACKET 4
40 .2 NYLON 66 PCB SPACER WASHER 6 AS HEYCO PART NO. 041 3991
41 .2 REMOTE EYE ASSEMBLY |
42 AP10246/4 CAMBRIDGE REMOTE EYE |
43 SCREW M2.6X6 P.T.P. B/H 2 REMOTE PCB TO REMOTE EYE X 2
44 REMOTE EYE PCB ASSEMBLY |
45 REMOTE EYE PCB |
46 INFRARED SENSOR SBX1910-52 |
47 1106-104053-000 CERAMIC CAP MULTILAYER MONOLITHIC 100nF/63V +/-10% |
48 AP10450/2 170mm 3 WAY SHIELDED SINGLE CONNECTOR |ST TYPE CABLE | REMOTE EYE PCB TO CN4
49 IEC POWER SOCKET ASSEMBLY |
50 IEC POWER SOCKET NICKEL PLATED SOLDER TAG TYPE |
51 AP10457/1 230mm DOUBLE INSULATED TWIN (2 X 0.75mm) AC POWER CORD | BS STANDARD
52 ... API10162/1 160mm GROUND WIRE | RING (M4) AWG#20 UL1015 GREEN | IEC GND TAB TO CHASSI GND
53 |.2 AP10447/1 230mm 6 WAY SHIELDED DOUBLE CONNECTOR JST TYPE CABLE 2 CNITOCNIOI/CN6 TOCNIO03
54 |.2 AP 10448/2 250mm 2 WAY DOUBLE CONNECTOR |ST TYPE CABLE | CN203 TO CN2
55 |.2 AP10453/3 VARIOUS LENGTH 4 WAY TRIPLE CONNECTOR JST TYPE CABLE | CN104 TO CN20I AND CN204
56 |.2 AP10452/2 230mm 4 WAY SINGLE CONNECTOR JST TYPE CABLE | RED/ORG/BL/BR (POWER PCB) TO CN102
57 |.2 AP10449/1 160mm 2 WAY SINGLE CONNECTOR |ST TYPE CABLE | MOTOR TO CN3
58 |.2 LED ASSEMBLY |
59 |..3 AP10451/1 415mm 3 WAY SINGLE CONNECTOR |ST TYPE CABLE | LED TO CN5
60 |...3 LED TRI-COLOUR (ORANGE/RED/GREEN) 3mm | PIN-OUT AS PER AP10451/1
6l .3 6010-150118-000 AP10124/3 CAMBRIDGE AUDIO LED LIGHT GUIDE | AFFIX TO LED AS PER DRAWING NO. AP10466/1
TONE PCB TO PLASTIC STANDOFF X3/ INPUT PCB
62 |2 7002-620002-112 SCREW M2.6X16 P.T.P. B/H 4 TO PLASTIC STANDOFE X |. HKENED960639
FEET TO BASE X4/ BASE TO HEATSINK & PCB
SUPPORT BRACKET X 8/ POWER PCB TO HEATSINK
63 [.2 7003-008001-111 SCREW M3X8 S.T.P. B/H BLK 26 & PCB SUPPORT BRACKET X6/ HEATSINK TO
HEATSINK & PCB SUPPORT BRACKET X8
64 |.2 7003-006003-111 SCREW M3X6 B.T.B. B/H BLK 3 BASE TO FRONT PANEL (BOTTOM) X 3
65 [.2 7003-006001-111 SCREW M3X6 S.T.P. B/H (BLACK) 9 ;2:E§<07>/ER TO REAR PANEL XJ/REAR PANEL TO
66  |.2 MACHINE SCREW M3X6 B/H (BLACK) 2 POWER PCB TO POWER PCB STANDOFF X2
67 |.2 MACHINE SCREW M3X6 PW/H (BLACK) 2 BASE TO POWER PCB STANDOFF X2
68 |.2 7003-006001-131 SCREW M3X6 S.T.P. PW/H (BLK) 4 TOP COVER TO BASE (L& R) X4
SUB PANEL TO BASE X4/FRONT PANEL TO SUB
69 |2 7003-006010-101 SCREW M3X6 K/H (BLK) 8 PANEL (TOP) X2/ SOURCE SWITCH TO SUB-PANEL
X2
70 |.2 6600-120030-001 NUT M3 HEX M3X5.5X2.4mm 2 IEC TO REAR PANEL
71 |2 BOLT M3x10 B/H 2 IEC TO REAR PANEL
SPEAKER TERMINAL TO REAR PANEL X6/RCA
72 |2 7003-008002-1 11 SCREW M3X8 P.T.P. B/H (BLACK) 10 TERMINAL TO REAR PANEL X4
73 |2 SCREW NUT M3 4 ICs TO SHELF HEATSINK BASE X 4
74 |.2 7003-008010-112 SCREW M3X12 B/H 4 ICs TO SHELF HEATSINK BASE X 4
75 |2 7103-206504-082 EX-TOOTHED LOCKWASHER M3 4 ICs TO SHELF HEATSINK BASE X 4
76 |.2 6600-120040-000 SCREW NUT M4X7X3 | POWER BOARD EARTH CONNECTION
77 |.2 7004-010010-022 SCREW M4X10 M.C. P/H | POWER BOARD EARTH CONNECTION
78 |.2 7104-308504-082 EX-TOOTHED LOCKWASHER M4 | POWER BOARD EARTH CONNECTION
79 |.2 7003-006001-111 SCREW M3 x 6 STP B/H (BLACK) | INPUT BOARD EARTH CONNECTION
80 |.2 7003-012010-002 SCREW M3X12 M/C PLASTIC KNOB H W/EXT TOOTH WSHR ZN | PHONO GND SCREW ON REAR PANEL
8l .3 AP10692/1 INSULATING MICA WASHER - FOR SAPI5N/P 4 I'g;.srgl;\lAJE U201, U202, U205, U206 FROM
82 |[.2 AP10417/3 SHELF HEAT SINK ASSEMBLY (PUNCHED FOR COMPONENT MOUNTING) 2 SUPPLIED ASSEMBLED - PARTS MANUFACTURED TO

AP10363/1, AP10364/2, AP10365/I

AP102679 A500RC BOM.xIs



A500RC INTEGRATED AMPLIFIER UK VERSION BOM AP10237/9
83 .2 AP10366/2 TRANSFORMER ASSEMBLY |
84 |.3 230V 120VA 30VAC x2 TOROID TRANSFORMER | TRI
85 .3 7006-055010-112 M6X55 BOLT | FOR TRANSFORMER
86 .3 6600-120060-000 Mé NUT | ABOVE LOCKWASHER
87 .3 7106-000000-020 M6 INTERNAL TOOTHED LOCKWASHER | ABOVE DISHED WASHER
88 .3 7106-087000-020 STEEL DISHED WASHER INTERNAL 6.5mm EXTERNAL 87mm | ABOVE TOP NEOPRENE WASHER
89 .3 7106-07000-020 STEEL FLAT WASHER INTERNAL 6.5mm EXTERNAL 70mm | OUTSIDE AMPLIFIER BASE
% .3 7106-087000-010 NEOPRENE WASHER INTERNAL 6.5mm EXTERNAL 87 mm 2 ABOVE AND BELOW TRANSFORMER
91 .3 AP10419/1 CAMBRIDGE TOROID PLATE STICKER 085141 | AFFIX TO STEEL DISHED WASHER
92 .2 9110-003750-000 CABLE TIE NYLON 3 X 75MM 1
93 .2 POWER PCB ASSEMBLY POPULATION REVISION A |
94 .3 AP10689/1 POWER PCB |
95 ) METAL FILM RESISTOR 330K 1/4W +/-1% 2 R201, R266
R202, R210, R223,
96 ) METAL FILM RESISTOR 33K 1/4W +/-1% 6 R247. R255. R262
97 ) METAL FILM RESISTOR 4K7 1/4W +/-1% 2 R203, R248
98 .3 METAL FILM RESISTOR K 1/4W +/-1% 4 zg: R218, R246,
99 ) METAL FILM RESISTOR [5R 1/4W +/-1% 4 zgz R206, R244,
100 |...3 METAL FILM RESISTOR 820R 1/4W +/-1% 2 R207, R243
1l |...3 METAL FILM RESISTOR 390R 1/4W +/-1% 2 R208, R242
102 |...3 METAL FILM RESISTOR 220R 1/4W +/-1% 2 R209, R263
103 |...3 METAL FILM RESISTOR 4R7 3W +/-1% 2 R211,R261
104 |...3 METAL FILM RESISTOR 22K 1/4W +/-1% 4 z;;‘ R227, R238,
105 |...3 METAL FILM RESISTOR 270R 1/4W +/-1% 4 zég R225, R239,
R215, R216, R219,
R229, R230, R236,
106 |...3 METAL FILM RESISTOR 47R 1/4W +/-1% i R237. R252, R256.
R257, R267
R217, R222, R228,
107 |...3 METAL FILM RESISTOR 100R 1/4W +/-1% 8 R241, R254, R265,
R213, R258
R220, R221, R226,
108 |...3 METAL FILM RESISTOR 82R 1/4W +/-1% 6 R240. R250, R251
109 |...3 METAL FILM RESISTOR 2R2 3W +/-1% 2 R224, R264
1o |...3 METAL FILM RESISTOR 4K7 3W +/-1% 2 R231, R245
.3 METAL FILM RESISTOR 3Ké 1/4W +/-1% 2 R232, R235
12 .3 METAL FILM RESISTOR 160R 1/4W +/-1% 2 R233, R234
13 .3 CAPACITOR ELECTROLYTIC NON POLAR IuF 16V 8mm PITCH 2 C201, C226
C203, C207, C217,
C219, C224, C228,
14 |..3 CAPACITOR ELECTROLYTIC 100uF 63V 10 €237, C240, C241,
C244
s .3 CAPACITOR ELECTROLYTIC 47uF 50V 2 C213,C214
e |...3 CAPACITOR ELECTROLYTIC 10uF 16V 2 C220, C238
C208, C209, C211,
17 |..3 CAPACITOR ELECTROLYTIC 2200uF 50V 8 C216, C229, C230,
C236, C243
€202, C206, C218,
g |...3 CAPACITOR CERAMIC DISC 47pF 100V 6 C223. €227, C239
19 1.3 CAPACITOR CERAMIC DISC 12pF 100V 2 C204, C221
120 |...3 CAPACITOR CERAMIC DISC 100pF 100V 2 C225, C235
C205, C210, C222,
C212, C215, C231,
121 ]...3 CAPACITOR CERAMIC MULTILAYER MONOLYTHIC 100n 100V +20%/-80% 10 €232, C233, C234,
C242
122 |...3 SAPI5N SANKEN TRANSISTOR 2 U201, U205
123 |...3 SAP15P SANKEN TRANSISTOR 2 U202, U206
124 |...3 LM317 POSITIVE REGULATOR | U203
125 |...3 LM337 NEGATIVE REGULATOR | U204
Q201, Q202, Q207,
Q209, Q210, Q215,
126 |...3 MPSA43 NPN TRANSISTOR (E LINE) 10 Q217.Q218, Q220
Q221
Q203, Q204, Q205,
127 |...3 MPSA93 PNP TRANSISTOR (E LINE) 8 Q208, Q212, Q213,
Q216, Q222
128 |...3 MJE350 PNP TRANSISTOR (TO126) 2 Q206, Q214
129 |...3 MJE340 NPN TRANSISTOR (TO126) 2 Q211,Q219
130 |...3 5mm RED LED 2 D201, D211
131 ]...3 IN4148 SIGNAL DIODE 4 gi?g D205, D212,
132 |..3 IN4004 DIODE 4 gi?i D204, D213,
133 .3 3V3 600mW ZENER DIODE D206, D216
134 |...3 IN5402 DIODE 4 D207, D208, D205,
D210
135 |...3 CONNECTOR WAFER JST TYPE TYPE 2WAY 2.5mm PITCH 2 gz;gl’ CN203,
136 |...3 SPEAKER JACK B30897090N NICKEL FINISH | CN202
137 .3 T4A FUSE 2 FU201, FU202
138 |...3 100R 10mm CARBON TRIMMER TOP ADJUST 2 RV201, RV202
139 .3 AP10703/1 OUTPUT INDUCTOR [8SWG 19.5 TURNS 2 W201, W202
LK201, LK202, LK203,
1490 |...3 UNINSULATED WIRE LINK |5mm DIAM = Imm (20SWG) 6 LK204, LK205, LK206
141 UNINSULATED WIRE LINK 49mm DIAM = Imm (20SWG) 2 LK207, LK208
142 49mm INSULATING SLEEVING ID1.2mm | TO COVER LINK LK202
143 250mm INSULATED WIRE AWG#20 UL1015 RED | RIGHT CHANNEL SPEAKER CABLE
144 200mm INSULATED WIRE AWG#20 ULI015 RED | LEFT CHANNEL SPEAKER CABLE
145 240mm INSULATED WIRE AWG#20 ULI015 BLACK | LEFT CHANNEL SPEAKER CABLE
146 220mm INSULATED WIRE AWG#20 ULI015 BLACK | RIGHT CHANNEL SPEAKER CABLE
147 100mm INSULATED WIRE AWG#20 ULI015 BLACK | *1PAD TO *PAD (under PCB)
148 70mm INSULATED WIRE AWG#20 ULI015 BLACK 2 *2PAD TO *PAD, **2PAD TO **PAD (under PCB;
149 50mm INSULATED WIRE AWG#20 ULI015 BLACK | **|PAD TO **PAD (under PCB)
150 STRAIGHT CONNECTOR WAFER 2 PIN 2.5mm PITCH |ST TYPE 3 gz;gﬁ,CNZOl
151 .2 INPUT PCB ASSEMBLY POPULATION REVISION A |

AP102679 A500RC BOM.xIs




AS500RC INTEGRATED AMPLIFIER UK VERSION BOM AP10237/9

152 .3 AP10381/1 INPUT PCB |
153 |..3 2402-020200-000 PUSH SWITCH 2P2T WPA EF-6AL | Swi
154 |..3 ROTARY SWITCH 4P5T TMEC RS003-A045BHn-157 | w2 5-WAY
CNIO,CNITI,
155 |..3 2330-006911-021 RCA JACK 4P RJ-1019-010 GOLD FINISH 4 CNI2.CNI3
156 |...3 UNINSULATED WIRE LINK I5mm DIAM = 0.7mm (22SWG) 1 LKI-LKT1
157 .3 UNINSULATED WIRE LINK 7.5mm DIAM = 0.7mm (22SWG) 2 LKI2/LKI3
158 |...3 AP10162/1 160mm GROUND WIRE | RING (M4) AWG#20 UL1015 GREEN | CHASSIS GND
159 |..3 METAL FILM RESISTOR 3K6 OHM 1/4W +/- 1% | RI
160 |...3 METAL FILM RESISTOR 160 OHM 1/4W +/-1% | R2
6l |..3 1013-302014-000 METAL FILM RESISTOR 3K3 OHM 1/4W +/- 1% 2 R3,R5
162 |...3 1012-201014-000 METAL FILM RESISTOR 220 OHM 1/4W +/- 1% 2 Ré,R7
163 |..3 1012-205014-000 METAL FILM RESISTOR 2M2 OHM 1/4W +/-1% 2 R8,R9
164 |...3 1011-002014-000 METAL FILM RESISTOR IK OHM [/4W +/- 1% 2 RIORII
165 |...3 1012-200014-000 METAL FILM RESISTOR 22 OHM 1/4W +/- 1% | RI2
166 |...3 METAL FILM RESISTOR 600 OHM 1/4W +/- 1% 2 RI3,RI4
167 |..3 CARBON FILM RESISTOR 330R OHM 2W +/- 5% | R4 RAISED OFF PCB
C2,C3,C4,C5,C7,
168 |...3 1106-104053-000 CERAMIC CAP. MULTILAYER MONOLITHIC 100nF/63V +/-10% I CI0,CI3,CI5,Cle,
Cl18,Cl9
169 |..3 1102-100054-000 ELECT CAP |0uF/ 63V +/- 20% | Cl
170 |..3 1102-470014-000 ELECT CAP 47uF/ 16V +/- 20% 3 C6,Cl14,Cl7
171 .3 1100-220043-000 CERAMIC DISC CAP 22pF 50V 2 C8,C9
172 |..3 MYLAR FILM CAP |n2F/100V +/- 10% Smm PITCH | Cll
173 .3 MYLAR FILM CAP 10nF/100V +/- 10% 5mm PITCH | Cl2
174 |..3 INTEGRATED CIRCUIT 78L05 TO - 92 | u3
175 |..3 INTEGRATED CIRCUIT MICROCHIP PIC 16C54 18 PIN DIL | u2 PROGRAMMED WITH SOFTWARE AP10422/1
176 |...3 INTEGRATED CIRCUIT 74HCI4 14 PIN DIL | U4
177 1.3 4179-150311-600 INTEGRATED CIRCUIT 79LI5 TO - 92 | us
178 |..3 4178-150311-600 INTEGRATED CIRCUIT 78LI5 TO - 92 | u7
179 |..3 4131-700310-000 INTEGRATED CIRCUIT LM317 TO - 220 | ul
180 |...3 4155-320052-100 INTEGRATED CIRCUIT NE5532 8 PIN DIL | U6
181 |..3 1300-006390-121 TRANSISTOR BC639 TO92 2 Q2,Q3
182 |..3 1303-100001-000 TRANSISTOR VNI0LM TO237 2 Ql,Q4
183 |..3 OSCILLATOR CRYSTAL 2PIN XTAL 4Mhz 5mm PITCH | X1
184 |..3 1401-141480-000 DIODE IN4148 7 D1,02,D4-D8
185 |..3 ZENER DIODE BZX55C 5Vé | D3
186 |...3 STRAIGHT CONNECTOR HEADER 6 PIN 2.5mm PITCH PIN L=13mm |ST TYPE 3 CN7-9
187 |..3 2300-006100-001 STRAIGHT CONNECTOR WAFER 6 PIN 2.5mm PITCH JST TYPE 2 CNI,CNé6
188 |...3 2300-002100-003 STRAIGHT CONNECTOR WAFER 2 PIN 2.5mm PITCH |ST TYPE 2 CN2, CN3
189 |..3 STRAIGHT CONNECTOR WAFER 3 PIN 2.5mm PITCH JST TYPE 2 CN4, CN5
190 |..3 SCREW NUT M3 2 PHONO BOARD LOCATING BOLT
91 .3 7003-014010-112 SCREW M3X14 B/H | PHONO BOARD LOCATING BOLT
192 |..3 7103-206504-082 EX-TOOTHED LOCKWASHER M3 | PHONO BOARD LOCATING BOLT
193 |..3 6510-150239-000 AP10001/2 CAMBRIDGE AUDIO SCREENING CAN | SHI EMBOSSED WITH ARTWORK AP10018/1
194 .2 TONE PCB ASSEMBLY POPULATION REVISION A |
195 |..3 AP10382/1 TONE PCB |
196 |..3 1014-703014-000 METAL FILM RESISTOR 47K OHM 1/4W +/-1% 2 RII2,RI14
197 .3 METAL FILM RESISTOR 130K OHM [/4W +/-1% 2 RITIRIT3
RIOI,RI02,R103,
198 |..3 1013-903014-000 METAL FILM RESISTOR 39K OHM 1/4W +/-1% 10 RI04,RI05,R106,
RI07,RI108,R109,RI10
199 |..3 VR 100K +-20% B TYPE FOR TONE 2 VRIOI,VR102
200 |...3 VR 20K OHM +-20% MN CURSE FOR BALANCE | VRI04
201 .3 SOUNDWELL MOTORISED A100K POT RMI6 SERIES 22mm LEGS | VRI103
C105,C106,Cl10,
202 |...3 1106-104053-000 CERAMIC CAP MULTILAYER MONOLITHIC 100nF/63V +/-10% 8 CIII1LCHI3,CLIS,
Cl18,Cl19
203 |...3 1102-470014-000 ELECT CAP 47uF/16V +/-20% 4 g:(l);,CI09,CI 14,
204 .3 CERAMIC DISC CAP 2p2F/50V D.C. 2 Clle, CI20
205 |...3 1100-567044-000 CERAMIC DISC CAP 5p6F/50V D.C. 2 Cl108,Cl12,
206 |..3 1110-103094-000 X-TYPE CAP 0.01uF/250V MIN A.C. +/-20% | Cl21
207 |...3 1117-333053-000 POLYESTER MINIATURE BOX CAP 0.033UF/63V +-10% 2 clol,Cl1o2
208 |..3 1109-331042-100 POLYSTYRENE CAP 330pF AXIAL 8mm LENGTH 2 Cl03,Cl107
209 |...3 4155-320052-100 INTEGRATED CIRCUIT NE5532 8 PIN DIL 2 uli02,U105
210 |..3 4178-150311-600 INTEGRATED CIRCUIT REGULATOR 78LI5 2 ul103,Ul06 USE MOTOROLA, SAMSUNG OR JRC ONLY
211 |..3 4179-150311-600 INTEGRATED CIRCUIT REGULATOR 79LI5 2 ulol,ulo4 USE MOTOROLA, SAMSUNG OR JRC ONLY
212 .3 2401-010100-001 POWER SW IPIT 250V/5A/TV3 (KNE-K1452) | swiol WITH SAFETY APPROVALS
213 |..3 2402-020200-000 PUSH SWITCH 2P2T WPA EF-6AL | SW102
214 .3 STRAIGHT CONN WAFER 6 PIN 2.5mm PITCH |ST TYPE 2 CNI0I,CN103
215 |..3 STRAIGHT CONN WAFER 4 PIN 2.5mm PITCH JST TYPE 2 CN102,CN104
216 .3 4030-000343-120 FUSE T-2A 5X20mm BSI | Fl01 230V AC ONLY
217 |..3 4031-050100-001 FUSE HOLDER 5X20MM PCB MOUNT WITH PLASTIC BASE |
218 |..3 4034-000030-000 FUSE COVER FOR 5X20MM HOLDER BASE |
219 |..3 6600-042304-000 EYELET 2.3X4mm 5 AC IN AND TRANSFORMER OUT HOLES
220 |..3 UNINSULATED WIRE LINK I5mm DIAM = 0.7mm (22SWG) 1 LKIOI-LKIT1 LK112 NOT FITTED ON 230V VERSION
221 |..3 6510-150239-000 AP10001/2 CAMBRIDGE AUDIO SCREENING CAN 2 SHIO0I, SHI02 EMBOSSED WITH ARTWORK AP10018/1

AP102679 A500RC BOM.xIs 5




+30 REG +45V

QO RED
D207 D210 FU20p T
U203
LM317 IN5402 IN5402 ——— (O ORANGE
2 [ o =232
- D208 D209 DR O crasss
R233 2
o C234
+ - + + + + IN5402 IN5402
Q3 2 Con  Sn i o s o st o st 5 Oveion
47uF sov ESSS = 5SS ESSY 5SS = |22 CN203 l_l_(l:z:ﬁ A
R232 O | +40V/UNREG
K6 )
ITlom 2 GND T‘mn
REMPSU
R235 _]_
e 23l -
4 o b o5 oo C216 24315 €229 L5 2305 oNB
ey p = sy 22000F oy 2200uF ey 22000F ey 22000F —
o34 B 100n o
160R 7
3 2
U204
LM337
C210
30REG 45v [I H
0.1uF 100V
R267
T
R
GND CHASSIS GND
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWN BY
| SAPISN/P POWER AMP <
The Audio Partnership :
Gallery Court 2. SHEET TITLE B| oate 11/30/99
Hankey Pl
LénNeDYoRTcgEl 4BB 2 POWER SUPPLY
Tel: +44(0)171 940 2200 : DRAWING N PAGE CHECKED BY
Fax 144((())“7\ 9402233 5. ° AP10687/3 1/3




N +45v

R237 4R
] -
R243 R242
820R 390R * 219 L ca7
SZ&N D211 100uF 63V 100uF 63V
LED-RED 08 =
Q2 14 = 47pF B
Q213 MIE350 —
MPSA93
R245 R241 R236 D213
4K7 3w TooR 4R IN4004 C245 CN205
ww D212 V4 s ﬂ H 5
IN4148 R238 g
R244 R249 - 2K R268 4TuF/S0V _Ez BRIDGE
ISR I5R GND R239 SAPISN 33K -
Q215 — U205 D E
C22| R263 MPSA43 270R OUTR R)64 10w OUTRI
12pF 220R R240 £ RV202
IuF NON POLAR 82R ww CN202:B
Ra48 , a2 ony] R262 €220 L[] roow W202 :
1 MPSA93 MPSA93 L1 10uF l6V 3 O | RouT
CN204 226 K7 I I 3K 10-20 TURNS O | oNp
R246 R258 SPKR 4-WAY
RN | O | R266 R247 07 1K 100R R261
GND | O 330K 33K P R260 4R7 W
SIGNAL\N l—‘__l P Q216 — SAPISP = ww
L L cos MPSA93 270R w06 | |°
100uF 63V
R259 |:| C222
= Q221 Q220 D215 2K 'T‘ 0.1uF 100V
MPSA43
GND MPSMBK Ny GND — R254 IN4148 R256 >
| — —
TR 4R —=
oot D214 o
R250 R251 ME40 B AN IN4004
82R 82R R255 c
33K
R265 Q218
— MPSA43 c22
100R VAN — =
D216 —
Q217 DIoDEZEN OND 47pF
MPSA43 BV=3V3 600mV
R252
4R
R257
. — .
| I—
I
C224 C244 Vv
100uF 63v =] S 100uF €3
GND
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWN BY
SAPI5N/P POWER AMP sC
The Audio Partnership | ww- wirewouND
Gallery Court 2. 22 SWG TINNED COPPER WIRE FOR W10 SHEET TITLE DATE | 1/30/99
Hankey Place
LONDION SEI 488 i FOR A300 U201, U202, U205, U206 ARE  SAPION/P RIGHT CHANNEL
Tel: +44 (0)171 940 2200 ’ DRAWING No. PAGE CHECKED BY
Fax: :44((0)) 1719402233 5 AP10687/3 2/3




+45V

R269
4K73W

A\ +45v
R229 4R
R207
CN207 CN206 820R 5,:%28 L C24| L C240
3 SZ\\B, D201 100uF 63V 100uF 63V
o g 5 LED-RED =239 C
o o7 205 206 T i
BRIDGE LED BRIDGE SPSA% %3350 —
= = R231 R28 N0 R230
4K7 W T LI D203
e 100R D202 R v AN 4o0s
IN4148 R227 S
R206 R205 . 2K
IR IR GND Q07 R225 Slj;‘g’l\‘
C204 R209 MPSA43 270R L =
ouTL R224 r2 3w ouTLI
12pF 220R R226 RV0!
IuF NON POLAR 82R o CN202:A
R203 R210 C238 Lt 100R
H D —_— . |—D/ Q204 Q203 \Q] — o lour Tav [ W20l | ; 0 |Lout
CNDO 0l K7 J__I LN Mrsass wesnss | 3K T M o | onD
R204 R213 X
LN | O R20| R202 202 IK 100R r R211 SPRa-AY
GND | O f 330K 33K g R214 4R7 3W
SIGNAL IN TI . Q208 1 sapisp[ 5 E Ww
C203 MPSA93 270R U202
100uF 63V
R212 |:| C205
AL Q202 Q201 T D205 2K ‘T‘ 0.1uF 100V
E MPSA43 IN4148
oND A 1 ] [\q GND —= R2I7 R2I6 >
T00R R —
C235 @l D204 i
H R22! H R20 5 MR s S o
82R 82R c
100pF ;?KZS
R222 Q210 C20
o MPSA43 7S D206 L g
DIODE-ZEN 47pF
Mszgga BV=3V3 600mV¥ 0 ’
R219
4R
R215
LT
C207 c237 At
100uF 63V 7 100uF €3V
6ND
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWN BY
The Audio Partnership I ww- WIREWOUND SAP) SN/P POWER AMP
Gallery Court 2. 22 SWG TINNED COPPER WIRE FOR W30 SHEET TITLE Gox 11/30/99
Hankey Place
LONDON SE1 488 i FORA300 U201, U202, U205, U206 ARE  SAPION/P LEFT CHANNEL
Tel: +44(0)171 9402200 : DRAWING No. PAGE CHECKED BY
Fax: +44 (0)171 940 2233 5. AP10687/3 3/3




RiGHT CHANNEL CNI3:A 2_PRE-OUTR v+ BUFF u7
RCA SEE NOTE 4 SW2:A 78L15 AN\ +I5VREG
—PRE GND
CNI3:C - 5 MDTAPE2R SOURCE : L {w vo -2
: <§> T SWI:A
RCA 4 \ TAPE Clé 2 17
o % +
z CNI2A /) 2 TUNERR ° ~ — 3 C3c|s
g RCA T \Oj ° ~ 2
2 ° 100n 470F 100n
Q CNI2:.C @ 5 CDR
z
RCA EAN
L TJais «|Cl4
CNITA {O)—2AvDVOR - 3 ~ — c=ac|5
RCA I\ PRE GND - 222%17 . 100n
100 u
CNII:C /) 5 _AUXPHR OLIQ o ; ¢ |
RCA 4 \Qj v VO
Cl9 | RI2
100n 28 CNIOA @ 2 TAPEOUTR A\ +30VREG us V -I5vREG
RCA &/ V- BUFF 79LI5 SEENOTE 4
CNI0:C 6\ 5 TAPEINR
ReA A\ ¥isVRESTR) | V¥ BUFF zz%é% CNI CN7
RI4 AL, 58698 CNS8 ; O | +30vREG +30VREG | O :
- 600R Tk CN6 00000 ? O | RCH -30VREG | O
— PHVI 3 4
- | —O [ GND GND [ O
—O | V+ BUFF 4 3
3 2 N P N N O | LcH GND | O
O | PRER 5 2
RI0 3 15 | rrechD | 6 19O |eNe GND | O]
2 410 | rrec 3 ROUT — O | -30VREG GND | O
5 RIN
,,,,,, . 1k >—-O [ PREGND 3 GND SIGNAL OUT PHONO PSU
LEFT CHANNEL N [© | V-BUFF 4 GND —
CNI3:B 3 PRE-OUTL — 2 -
RCA O I _| PRE-OUT 2 LN SW2:D
RI3 6o0r V -isvReg  PREGND — —_— T Souree
CNI3D 5 6 MDITAPEZL SEE NOTE 4 V- BUFF — SWIB Y -30vReG
RCA —O\ TAPE
CNI2:B 3 TUNERL : o—
RCA o ° o
CNI2:D
(@) sl +V UNREG +30V MOTOR +5VREG
RCA ul U3 A
CNII:B O 3 AVDVDL , LM317 R ‘ 78L05 ,
RCA v VO v VO
= o
CNII:D @ 6 AUX/PHL OLKI o 2 &
RCA
_ R2 ~
CNIO:B O 3 TAPEOUTL 160R + + c7 Clo
RCA im0} —=C5 C6 ca
— ESSY ——1 1000 47F SN 3
CNI0:D @ 6 TAPEINL 100n cl ¢ 100n 100n
Rea cN2 RI 10uF
+30V MOTOR e
+V UNREG | O
R3 R4 R5 crassis | O
33 330R2W K3 L= 2
D2
+SVREGA\
IN4148
D4
1 N RO R&  U4A U2 \
J 4l CN4 M2 U4E 2M2  VCC=+5VREG | R2 RAI [—— X|
IN4148 | D7 : D8 GND=CHASSIS I R0 e CRYSTAL
+5v| O —=— RTCC CKIN
2 1 Il 0 | 2 3 | 5 FREQ=4MHz
OPT| O 3 N N 7 MR CKOUT "
Chassis | © IN4148 IN4148 B Vb -
D5 == 74HC14 74HC14 > 60 o7 = = =
D3 C4 REMOTE R81 Ree |2 c9 @]
BZXS5C 5V6 = jo0n D6 g— R62 R8s (') = 0pr 7 220
IN4148 = IN4148 p 5| e RB4 | CN5
CN3
Ql VOTOR Q4 IN4148 PICi6Cs4 R6 220R ; O | Lepl
VNIOLM VNIOLM Cll —c|2 SO | crassis
ww 1
27 10nF 10nF 1 O | LED2
R7  220r LED
LO CHASSIS
© COPYRIGHT GENERAL NOTES DRAWING TITLE DRAWNEY
The Audio Partnership |. CN6 FORVI OPTIONAL PHONO STAGE INPUT PCB WITH PRE-OUT AND R/C
Gallery Court 2. CN5 FORV2 OPTIONAL PHONO STAGE SHEET TITLE 9 DATE
Tg"’\“‘gg"\‘f’ga . 3. CUT LINKS | &2 WHEN FITTING PHONO STAGE COMPLETE PCB 31/07/98
4. COMPONENTS NOT FITTED IN POP REV B
Tel: +44 (0)171 940 2200 DRAWING No. PAGE CHECKED BY
Fax: +44(0)1 71 940 2233 5. AP10261/2 1/1




Cll1é6

2p2F VRIO2:A
RITI 100k
1 |
130k
H RI09 = clo7 H Ri08 SW102:B
RI12 . 330pF L 5
47k 5 z DEFEAT
+
. RI02 R104 RI05
U105:B |:| 3% H 3% |:| 3% Cl08
NES5532
VRIO3:A
VRIOI:A 100k
100k
T 1 VRI04:A
|] |:| 20k
Clo LCHOUT
33n ul02:B
NE5532
’ U106 U103
78LIS VAl 78LIS VA3
! v VO 3 ! Vi VO 3
Cl19 9 ClI8 |+ Cl10 9 Cll |+
] u — u
+30VREG 8 100n 2 ITlom ETS 7 100n ~ ITIOOn ETS A7 o | +30vRes o | rReHouT 2 g +30VREG
Rc:N‘g o o h; 1 0 | aND I S | oo 19 réa—é)om
LeHIN | 042 I ER D O [ GND 4 10 |LeHour
oo | o Cl13 - Cl154+ IC105 - Cl06+ O | -3ovReG J_ S0 | LeHouT 518 | eno
-3ovReG | O = Cli4 = C104 CN105 PSUIN - SIGNAL OUT ¢ 10 |-3ovres
= o o 470F = 9 4WF e+ | O RII5
SIGNAL IN 4 100n 100n F4 100n o — 4 PRE-OUT
2 1y vo | 2 fy vo L i 05 2 1K5 (1W) :
ulo4 VA2 Ul0l VA4 SEENOTE |
79L15 79L15
Cl20
[| D 230V FI0I=T2A
115V FI0I=T4A
2p2F VRI02:B SWI0I
RII3 100k o o/ Fl0l LKIT1 o
JALLL L : o—= BROWN
IWI 5 POWER TZA/T|_'4A 230V
Cl21
LK112
RI10 == clo3 H RI03
- VA2 |:| 39 39 SWI0ZA 1sv o
,—.Rl 14 2 T e 001uf g
T - | AC BLACK 2
47k ol I DEFEAT 2
3
1 A UIOSA H RIOI H RI07 H RI06 F
NES532
VRI03:B
100k NGO O BLUE/WHITE
VRI104:B
20k

H Rerour

L

© COPYRIGHT

The Audio Partnership
Gallery Court

Hankey Place

LONDON SEI 488

Tel: +44 (0)171 940 2200
Fax: +44 (0)171 940 2233

GENERAL NOTES

2.

vk w

|. CN105/RII5 NOT FITTED TO RC PRODUCTS

DRAWING TITLE DRAWN BY
TONE PCB WITH TONE DEFEAT NF
SHEET TITLE N pare
COMPLETE PCB 08/09/98
DRAWING No. PAGE CHECKED BY
AP10230/3 |1




SW2:B
TAPE

SWa:A
TAPE

o |+28v +28v| o5
0 |RCH -28V| 01—
O | GND GND| O~
o |LcH GND| O
O | GND GND| 015
Ho | —28v GND| O

@cm:a
] \JTAPE IN (R»
7 @cm:n
Z \JTAPE oUT (R)
a @(:Na:n
T \JJTUNER (R>
@CNa:B
- \Jcb (R>
W1:A
I /O\mam SOURCE
@) \JVIDEC (RD
L——o0
H LINK LK1 pa—
0 | CN2:B o
(@) AUX/PH (R)> O B S A —
= [
zzo22d,
HHZz0o0Y
Jrgle2
N5 000600
PH U1
| m¢mm| CN4
1 +o |Rout
510 |RIN
410 |GND
51O |GND
20 |LIN
O |LouT
1 PH va
LINK LK2 B
CN2:B
(@) - _ —_ 0 "
| PHONO GND AUX/PH (L5 O—
UJ [____________o"”,{h————————————{
7 T @CNE:A — °
Z UVIDEC (L)
T @CNa:B
T b (>
O & []m
ToeN ] 228 (Oyea:a
— \JTUNER (>
L @cm:n
L \JTAPE oUT (L
@cm:a
\JJTAPE IN (L»
General Notes
the audio par‘ther‘gh i e @ 1. PH U1 - CONNECTOR FOR VERSION 1 OPTIONAL PHONO STAGE
Richer House 2. PH U2 - CONNECTOR FOR VERSION 2 OPTIONAL PHONO STAGE

Hankey P | ace
London
SE1 4BB

Tel :+44(@>171 357 999@
Fax:+44(@>171 357 9888

3. LKS 1

& 2 CUT WHEN EITHER PHONO STAGE FITTED

[

Page No.
1 OF 3 ’_

Drawn

NF |

Drawing No.
’V AP12B12/1 ’_

Checked

]

Title

’VQ1M1<3U8/QX91Z IPT BOARD

(

Date

3/3/97

HEN
-




c11yparF -
" UR3:B
RS 1202 120
R12 C1s R14
¢ -1s5{ uae 39K p— 39K
L S
1
7K
31+ _~una
NES532
o A1 R16 R11
+15U UA1 39K 39K 39K
VR4:B
12@K
oras] c13==5p5|=
alb [ I
ELLIEEN Iy Iy
U uA4 VR1:B VR2:B RIGHT CHANNEL
28K 102K
BAL VoL
NES532
A
+15V UA3
Y is +15U vA1 1S +15U UA3 PoBER -
| ] —1
N o N 0o LO ° o — O BROWN
L 1 z ;
1 €38 c3 e G40 cs 1 =
+28Y0T5 - 1ZeN =2 270A= TzeN 128N == 270A=— TzeN 3 19 |+a8v c18 D
RCH o+& £ 1o |ReH 18 2
GND 01— 1 | 20 |eND > 1 &
cofo2 4 £10 [LeH a @.21uF
ENDOT 8 ‘ | +UE 01— R18 216 [aND
-28L0 — + + o 1 O | —28V N O O ORANGE
— . C37 ) €6 ca c39 = €8 c4 PIV Y
SIGNAL IN| - 122N T47uT1zN - 122N 47UP== 12@N  CN1 | sTenaAL ouTt
— LED =
vI vo VI vo
- el 8 _
79L15 15V v 79L15 15V v
TREBLE
—
c18 yg2rF VR3:A
ﬁ 100
R4 — 120 R13 C14 R15
1 39K 39K
330pF
L, L T
z
7K s |,
U1:B
ESS32 R17
R9 R
H 38K 33K [] 39K
VR4:A
122K
BASS
¢e ['L 1 LEFT CHANNEL
c17133N 11 N N
SPEF VR1:A VR2:A
& 28K 102K
z BAL VoL
s
NESS32
u2:B
General Notes Page No. Drawn
——
the audio partnership © ( 2 OF 3 { NF |
Richer House Drawing No. Checked
Hankey P | ace AP18313/3
L ondon Title Date
Tel:+44(@>171 357 9292
SE1 4BB Tel i+44¢@)171 357 3090 A1mk3 U2 TONE BOARD 12/5/97

=




RIGHT CHANNEL

SPKR OUT (R)
[]HEB 9 CN12:B Fa TR
47K SPKR GND —3 YEL O ORANGE
D1 TZA %
RED FROM TONE
Ra4 INS42 GREY BOARD
cen
682 ] R2@ 2 -
470 LTJ - Fa
. 3. 3uF +28V VA7 +28V UAS D2 108N —— PUR O BROWN
TZA
=] 120U
V-28v uas " + can + |ca7 IN5424
1= =] e
L ces + |ca2 cas + |cam EeraB20auF
CN11 = = = = c19
P o 102N |122uF " @ON |1 @3UF]
] 108N
RCH o5 T-
GND 01—
LCH O ceg 1
GND 02 —
6 cas + [c31 cea + |18@uF =
-28V0o -_— = 1=l
SIGNAL IN 102N [123uF 1@ON + cas + |caa
1 1= —| e
= EeraB20auF
+28V UA7 -payv Uns -28V UAB
4
SPKR OUT (L)
[]R1S ) cN12:A
47K A SPKR GND
LT
mm
R23
s82R| | R21 casl t
478KL1 3., 30F]
+
ca1
1o
V-28v vas

LEFT CHANNEL

the audio partnership ©
Richer House
Hankey P | ace
London
SE1 4BB

Tel :+44(@>171 357 999@
Fax:+44(@>171 357 9888

Notes

Page No.

Drawn
3 OF 3 { NF

Drawing No.

AP18B14/3 {

Checked

]

Title Date
{Q1MRBU8/QX91Z POWER [

13/5/97
13

LA~



A 300/ A 500 Amplifier idle current adjustment procedure

When replacing the SAP15 output pair, reset the bias current by adjusting RV201
while monitoring the voltage between pins S and E of the transistor, to achieve a
voltage of 13mV (equivalent of approx 60mA).

EEquivalent Circuit Diagram

NPN PNP

Fmitler s2sisior
Re: 0.220 Typ.

S

D f: 705t Typ.

Esviller resistor
Re: 0.220 Typ.

EDC SE ESCDB






